Z G S RENT

BUY
Mobile StraBBen SERVICE

M16 Thread
Profile 5mm

Profile 2,5mm

VARIO
mac2

Material:
Polyethylene, high molecular
Dimensions in mm:

1000 x 2000 x 31,5 (incl. profile) 1.71m?

Weight per panel: aLrJ::l:)er

Approx. 40,5 kg panel

Surface and colour:

5mm & 2,5mm Profile

black-coloured

Load capacity:

approx. 130t (depending on the

surface)

Transport per truck: Areas of application:

2

540 pes (923m?) ﬁ Mobile crane m Heavy-lift m— Mobile logistics

sites o==®0'  fransport o'o
) ° .
Ay e R T sy Fedconcte

construction

. Concerts and Mobile parking
Line events lots
construction

WWW.Zgs.ag Tel: +49 176 11 00 77 55 info@zgs.ag



General information

Unloading:
The panels can be unloaded from a lorry using a forklift truck or a crane. When lifting, special care must be taken to ensure that the

panels cannot slip or fall off.

Storage: Never stack directly more than 20 panels at a time.

P Y o~ M e

P et T = e S 4

£ eslde :J\J{"u_n Unmcy
T
Lo ey
e e /== S
: %W

P A e

Storage: Never stack more than 20
panels on a stake rack.

Do not move more than 2 stake racks
at a time using a forklift truck.

Move only one stake rack at a time
using a chain sling.




Use of the panels:
Both sides of the panel can be used. The upper side has a high profile surface (suitable for the use of construction vehicles).

The underside has a lower profile pattern (suitable for predominant use by pedestrians).

BRERERSSSRERERERERER
5%%@2@%@%@%%;%@%@%%

'G)«\ i

A




Connecting the panels:
The panels are connected and screwed together using washers and screws (M16x30mm). All adjacent panels must be connected in
this way. Always install the panels so that the surfaces of the same type face upwards.

Connecting the panels together (vehicle side):
The panels are connected and screwed together using washers and screws (M16x30mm). All adjacent panels must be connected in
this way. Always install the panels so that the surfaces of the same type face upwards.

2m side: 4x screws M16x30, 4x washers for screws M16
1m side: 3x screws M16x30, 3x washers for screws M16



Connecting the panels to the ramps (vehicle side):
The panels are connected and screwed together using washers and screws (M16x30mm). All adjacent panels must be connected in
this way. Always install the panels so that the surfaces of the same type face upwards.

Ramp above:
0.9m long: 3x screws M16x30, 3x washers for screws M16

Ramp above:
1.9m long: 4x screws M16x30, 4x washers for screws M16

Ramp beneath:
1.9m long: 2x screws M16x30, 2x washers for screws M16

Ramp beneath:
0.9m long: 1x screw M16x30, 1x washer for screw M16

The design of the ramps installed above or beneath the panels, regardless of whether they are used for the vehicle or pedestrian side, is
identical. Only the number of connection options differs on the vehicle and pedestrian sides.



Connecting the panels together (pedestrian side):
The panels are connected and screwed together using washers and screws (M16x30mm). All adjacent panels must be connected in
this way. Always install the panels so that the surfaces of the same type face upwards.

2m side: 3x screws M16x30, 3x washers for screws M16
1m side: 2x screws M16x30, 2x washers for screws M16



Connecting the panels to the ramps (pedestrian side):
The panels are connected and screwed together using washers and screws (M16x30mm). All adjacent panels must be connected in
this way. Always install the panels so that the surfaces of the same type face upwards.

Ramp above:
0.9m long: 2x screws M16x30, 2x washers for screws M16

Ramp beneath:
1.9m long: 2x screws M16x30, 2x washers for screws M16

Ramp above:
1.9m long: 3x screws M16x30, 3x washers for screws M16

Ramp beneath:
0.9m long: 2x screws M16x30, 2x washers for screws M16

The design of the ramps installed above or beneath the panels, regardless of whether they are used for the vehicle or pedestrian side, is
identical. Only the number of connection options differs on the vehicle and pedestrian sides.



